Multiple Choice Questions

Question. 1 Generalised form of a four-digit number abdc is

(a) 1000a + 100b + 10c + d (b) 1000a + 100c + 10b + d

(c) 1000a+100b+10d+c(d)axbxcxd

Solution. (c) In generalised form, we express a number as the sum of the products of its digits
with their respective place values.

abdc is written in generalised form as 1000a + 100b + 10d + c.

i.e. abdc =1000a + 100b + 10d + ¢

Question. 2 Generalised form of a two-digit number xy is

(a)x +y (b)10x +y (c)10x-y (d)10y+x

Solution. (b) In generalised form, xy can be written as the sum of the products of its digits
with their respective place values, i.e.xy = 10x+y

Question. 3 The usual form of 1000a + 10b + c is

(a) abc (b) abc0 (c) aObe (d) ab0c

Solution. (c) Given expanded (or generalised) form of a number is 1000a + 10b + c. Then, we
have to find its usual form.

We can writeitas 1000 xa+100x 0+ 10xb +c

i.e. aObc, which is the usual form.

Question. 4 Let abc be a three-digit number. Then, abc — cba is not divisible by
(@) 9 (b) 11 (c) 18 (d) 33

Solution. (c) Given, abc is a three-digit number.

Then,abc =100a+ 10b+c

and cba=100c +10b+a

abc -eba = (100a + 10b + ¢)- (100c + 10b + a)

=100a —a+10b—10b+c-100=



=99a-99c =99 (a-c)
= abc-cba is divisible by 99.
=>abc - cbais divisible by 9,11,33, but it is not divisible by 18.

Question. 5 The sum of all the numbers formed by the digits x, y and z of the number xyz is
divisible by (a) 11 (b) 33 (c) 37 (d) 74

Solution. (c) We have, xyz + yzx + zxy

=(100x + 10y + z) + (100y + 10 z+ x) + (100z+ 10x +y) ..(I)

=1700x + 10x + x + 10y + 100y +y + z+ 100z+ 10Z

=111+ 111y + 1112 =111 (x +y +2)

=3x37x(x+y+2)

Hence, Eq. (i) is divisible by 37, but not divisible by 11,33 and 74.

Question. 6 A four-digit number aabb is divisible by 55. Then, possible value(s) of b is/are
(@)0and2(b)2and5(c)0and 5 (d) 7

Solution. (c) It is given that, aabb is divisible by 55. Then, it is also divisible by 5.

Now, if a number is divisible by 5, then its unit digit is either 0 or 5.

Hence, the possible values of b are 0 and 5.

Question. 7 Let abc be a three-digit number. Then, abc + bca + cab is not divisible by

(@ a+b+c(b)3(c)37(d)9

Solution. (d) We know that, the sum of three-digit numbers taken in cyclic order can be written
as111 (a+b+o).

je.abc+pea+cab=3x37x(@a+b+c)

Hence, the sum is divisible by 3, 37 and (a + b + ¢) but not divisible by 9.

Question. 8 A four-digit number 40b5 is divisible by 55. Then, the value of b-a is
(@0(b)1(04(d)5

Solution. (b) Given, a four-digit number 4ab5 is divisible by 55. Then, it is also divisible by 11.
The difference of sum of its digits in odd places and sum of its digits in even places is either 0
or multiple of 11.

ie. (4+b)-(a+5)is0oramultipleof11,if4+b—a—5=0=>b-a=1

Question. 9 If abc is a three-digit number, then number abc -a-b-c is divisible by

(@) 9 (b) 90 (c)10 (d) 11

Solution. (d) We have, abc= 100a + 10b+c
-.abc-a-b-c=(100a+10b+c)-a-b-c=100a-a+10b-b=99a+9b=9(11a+b)
Hence, the given number abc — a — b-c is divisible by 9.

Question. 10 A six-digit number is formed by repeating a three-digit number. For example,
256256, 678678 etc. Any number of this form is divisible by (a) 7 only (b) 11 only (c) 13 only
(d) 1001
Solution.
{d} Letthe st-digit number be shoatc, then

= P00000 = & + 100000 + 1000c + 1008 + 10k + 2

= at00000 + 1000 + L0000+ 10) + c{1000 = 1)

=a{100100) + A0S + e (A0 =100la = 100+ bx 10+ 2]

Hence, it is divisible by 1007,

Question. 11 If the sum of digits of a number is divisible by three, then the number is always
divisible by (a) 2 (b) 3 (c) 6 (d) 9

Solution. (b) We know that, if sum of digits of a number is divisible by three, then the number
must be divisible by 3, i.e. the remainder obtained by dividing the number by 3 is same as the



remainder obtained by dividing the sum of its digits by 3.

Question. 12 If x +y + z = 6 and z is an odd digit, then the three-digit number xyz is

(a) an odd multiple of 3 (b) an odd multiple of 6

(c) an even multiple of 3 (d) an even multiple of 9

Solution. (a) We have, x + y+ z= 6 and z is an odd digit. Since, sum of the digits is divisible by
3, it will also be divisible by 2 and 3 but unit digit is odd, so it is divisible by 3 only.Hence, the
number is an odd multiple of 3.

Question. 13 If 5A + 53 = 65, then the values of A and B is
(@Q)A=28=3(b)A=38=2(c)A=28=1(d)A=1,8=2
Solution.

el Wi v,

Sa.+ B3
&5

Evidantly, 4 + 3is a rumber taking valuas from 310 12, So, sithér A+ A5 or RisE
two-digit number whose unit digit s 5. But, A + 35 less han or equal to 12,

A4 Bul =S Aal
e lens colurm, we hava b+ =8 = B=1
Hance, A=2and 8=1

Question. 14 If A3 + 8B = 150, then the value of A + B is

(@13 (b)12(c)17(d) 15

Solution. (a) We have, A3+ 8B = 150

Here, 3+ B =0, so 3 + B is a two-digit number whose unit's digit is zero.
-~ 3tB=10=>B=7

- Now, considering ten’s column, A+ 8 +1 =15

=A+9=15

=>A=6

Hence, A+B=6+7 =13

Question. 15 If 5A x A = 399, then the value of A is

(@3®)6(c)7(d)9

Solution. (c) We have, 5A x A = 399

Here, Ax A=9i.e. Ax Aisthe number 9 or a number whose unit's digit is 9. Thus, the number
whose product with itself produces a two-digit number having its unit’s digit as 9 is 7.

e, AXA=49=>A=7

Now, 5x A+4 =39

=>5x7+4=39

So, A satisfies the product.

Hence, the value of Ais 7.

Question. 16 If 6A x B = > 488, then the value of A-B is

(@-2®b)2(c)-3(d)3

Solution. (c) Given, 6A x B = AB6

Letusassume, A=1and S =3Then, LHS =61 x 3 =183 and RHS = 183 Thus, our
assumption is true.

A-6=1-3=-2

Question. 17 Which of the following numbers is divisible by 99?

(a) 913462 (b) 114345 (c) 135792 (d) 3572406

Solution. (b) Given a number is divisible by 99.

Now, going through the options, we observe that the number (b) is divisible by 9 and 11 both
as the sum of digits of the number is divisible by 9 and sum of digits at odd places = sum of
digits at even places.



Fill in the Blanks

In questions 18 to 33, fill in the blanks to make the statements true.

Question. 18 3134673 is divisible by 3 and————- .

Solution. 9

3134673 is divisible by 3 and 9 as sum of the digits, 3+1+3+4+6+7 + 3 = 27 is divisible by both
3and 9.

Question. 19 20 x 3 is a multiple of 3, if the digit x is———-or——— or———.

Solution. 1,4,7

We know that, if a number is a multiple of 3, then the sum of its digits is again a multiple of 3,
i.e. 2+0+x+3 is a multiple of 3.

x+5=0,369 12, 15But, x is a digit of the number 20 x 3.

x can take values 0, 1,2, 3,.......9.

=>x+5=60r9o0r12

Hence,x=1ordor7

Question. 20 3 x 5 is divisible by 9, if the digit x is———.

Solution. 1

Since, the number 3 x 5 is divisible by 9, then the sum of its digits is also divisible by 9. i.e. 3 +
x + 5 is divisible by 9.

=>x + 8 can take values 9,18, 27,...

But x is a digit of the number 3 x 5,sox = 1.

Question. 21 The sum of a two-digit number and the number obtained by reversing the digits
is always divisible by———-.

Solution. 11

Let ab be any two-digit number, then the number obtained by reversing its digits is ba.

Now, ab +ba = (10a+b)+(10b+a)=11a+11b=11(a+b)

Hence, ab + ba is always divisible by 11 and (a + b).

Question. 22 The difference of two-digit number and the number obtained by reversing its
digits is always divisible by ———-.

Solution. 9

Let ab be any two-digit number, then we have

ab —ba=(10a+b)- (10b +a)

=9a-9b=9(a-b)

Hence, ab — ba is always divisible by 9 and (a — b).

Question. 23 The difference of three-digit number and the number obtained by putting the
digits in reverse order is always divisible by 9 and——-.

Solution. 11

Let abc be a three-digit number, then we have

abc -cba = (100a + 10b + ¢)- (100c + 10b+ a) ; = (100a - a) + (c — 10Cc)

=99a - 99c =99(a -¢)

=9x11x(a-c)

Hence, abc — cba is always divisible by 9,11 and (a - ¢).

Question. 24

2 B

+4 B
If L then A = and B = :

Solution.



3
i 2 B

+4 B
A

Heig, Bcan take vawes from 0o 9

For 8 =0, A = 0, which does nod fit in tens calumn
For 8= 1, A = 2 which does not fit in tens column
For B= 3, A= § which saflsfies the tens column
Hence, A=6and 8=3

We nave,

Question. 25
A B

Sl and B= .
9 &

Solution.

2.4
A B

We have, = B
9 &
Here 8 = B = § tharalons B can take values aither 4 or 6.
Far B=q4 Ax B+ 1=89
= Axd+1=8= A=2
Hence, A=2 B=4

Question. 26

g 1

If %, then B = :

Solution.

7
B 1
W have, 28

i

Hera, 8 can ke vaiones o
B x 8= 42i5 rol satisfied
Hence, 8=

Question. 27 1 x 35 is divisible by 9, if x =———.

Solution.

o

A5 is divgible by 8, then e s of its digits is also divisiole by 9,

e 1+ 2+ 3+ Sea divisible by &

= 8+ xcanlaks valoes 009, 18, 27, .

o 04 xaDar il [x iz o digit]
= x=0or8

Question. 28 A four-digit number abed is divisible by 11, if d + b =————or————-.
Solution. a +¢,12(a + ¢)

We know that, a number is divisible by 11, if the difference between the sum of digits at odd
places and the sum of its digits at even places is either 0 or a multiple of 11.

Hence, abcd is divisible by 11, if (d + b)- (a + ¢) =0,11,22, 33,..
=>d+b=a+cord+b=12(a+0)



Question. 29 A number is divisible by 11, if the differences between the sum of digits at its
odd places and that of digits at the even places is either 0 or divisible by ———- .
Solution. 11

By test of divisibility by 1,1, we know that, a number is divisible by 11, if the sum of digits at
odd places and even places are equal or differ by a number, which is divisible by 11.

Question. 30 If o three-digit number abc is divisible by 11, then——-is either 0 or multiple of
11.

Solution. (a+c)-b

Since, abc is divisible by 11, the difference of sum of its digits at odd places and that of even
places is either zero or multiple of 11, i.e. (a + ¢) — b is either zero or multiple of 11.

Question. 31 If Ax3 =lAthen A =————.

Solution.
5
A
We Have, x8
1A

Here, 3 =4 is a two-dight number whose unit digh i A
A can take any value batwien O 169, but dnly A= 5 salisfies the product,

Henca, A=h
Question. 32 If B x B = AB, then eitherA=2,B=50rA=———B =———-.
Solution.
3,6
B
Green, i
B

Here, B « B s & two-digé nurmiber, whose unit dig is B thesefore thi vidue of 8% ellbar &
o .

=5 then A=2and i B= 8 then Am3

Question. 33 If the digit 1 is placed after a two-digit number whose ten’s is t and one’s digit
is u, the new number is———-.

Solution. tu1

Given, a two-digit number whose ones digit isu in and tens digit isu. If the digit 1 is placed after
this number, then the next number will be tuT.

True/False

In questions 34 to 44, state whether the given statements are True or False.

Question. 34 A two-digit number ab is always divisible by 2, if b is an even number.
Solution. True

By the test of divisibility by 2, we know that a number is divisible by 2, if its unit's digit is even.

Question. 35 A three-digit number abc is divisible by 5, if ¢ is an even number.

Solution. False

By the test of divisibility by 5, we know that if a number is divisible by 5, then its one’s digit will
be either 0 or 5, i.e. the numbers ending with the digits 0 or 5 are divisible by 5.

Question. 36 A four-digit mmbeFabcd is divisible by 4, if ab is divisible by 4.

Solution. False

As we know that, if a number is divisible by 4, then the number formed by its digits in unit's
and ten’s place is divisible by 4.



Question. 37 A three-digit number abc is divisible by 6, if c is an even numberanda+b +cis
a multiple of 3.

Solution. True

If a number is divisible by 6, then it is divisible by both 2 and 3. Since, abc is divisible by 6, it is
also divisible by 2 and 3. Therefore, ¢ is an even number and the sum of digits is divisible by 3,
i.e. multiple of 3.

Question. 38 Number of the form 3N + 2 will leave remainder 2 when divided by 3.
Solution. True

Let x = 3N + 2. Then, it can be written as.

x = (a multiple of 3) + 2

i.e. x is a number which is 2 more than a multiple of 3

i.e. x is a number, which when divided by 3, leaves the remainder 2.

Question. 39 Number 7N+1 will leave remainder 1 when divided by 7.

Solution. True

Given, a number of the form 7N + 1 = x (say)

Here, we observe that * is a number which is one more than a multiple of 7. i.e. when x is
divided by 7, it leaves the remainder 1.

Question. 40 If a number a is divisible by b, then it must be divisible by each factor of b.
Solution. True

Given, a is divisible by b.

Letb = p1+p2, where p1 and p2 are primes.

Since, a is divisible by b, a is a multiple of b

ie.a=mb

=>a=m.pl.p2

or a=cp2=dp1, where c = mp1,d = mp2

=>ais a multiple of p1 as well as p2.

Hence, a is divisible by each factor b.

Question. 41 If ABx4=192,thenA+6=7.

Solution.
False
A8
e hawe, :{—4
192

Here, B x 4 is a two-digit number whose unit's digt iz 2.

Therefore, the valug of 8 5 either 3 or &,

But 8 « 3 not possibiras A x 4+ 12 18for ary value of Abetween 0 o8
s B=Handthen A=4

Henca, A + =12

Question. 42 If AB + 7C = 102, where B # 0, C # 0 then A+ B+ C = 14.
Solution.
True

AB

W&l‘lﬂ"i‘ﬂ.-‘-?c

Here, 8 + C Iz elther 2 or a two-digit number whosa one's digit is 2,
IfB=C=1,1f8=5C=7,A=2and A+B+C=2+ 5+ 7 =14



Question. 43 If 213 x 27 is divisible by 9, then the value of x is 0.
Solution. False

Given, 213 x 27 is divisible by 9, so sum of its digits is also divisible by 9.
e.21+3+x+2+7—0,9718,27,36,..

=>x+15=0,9,18,27,36,...

=>x+15=18 [xis a digit of a number]

=>x=3

Question. 44 In N + 5 leaves remainder 3 and V = 2 leaves remainder 0, then IV =+ 10 |eaves
remainder 4.
Solution.

Falze

M o+ G leeyes rameinder 3

= N=8n+ 3 wheren=0123..

Mow, It i3 also given, N+ 2 laaves nemainder 0.

S0, N muat be an even number

But N = 51 4 314, sum of wao terms whose secord term is odd
B0, 1or N should be even it is necessary that o must be odd.
which iz poasible, whenn=13 5§ ...
S0, in treg case value of N should ba

N=8 18, 28, 38, ..
ie Nelt+Bn=0123, ..
When &+ 10leaves remainder 8 alwarys,

Question. 45 Find the least value that must be given to number a, so that the number
91876a2 is divisible by 8.

Solution. Given, 91876a2 is divisible by 8.

Since, we know that, if a number is divisible by 8, then the number formed by last 3 digits is
divisible by 8.

So, 6a2 is divisible by 8.

Here, a can take values from 0 to 9.

Fora =0, 602 is not divisible by 8.

Fora=1, 612, which is not divisible by 8.

Fora = 3,632 is divisible by 8.

Hence, the minimum value of a is 3 to make 91876a2 divisible by 8.

Question. 46

1 P
» P
If ,
d 6

Solution.

where § — P = 3, then find the values of P and 4.

4

We have, 5_'; and G- F=3

T

Hare, P = Pis B, 50 tha value of P ig sither 4 ar g,
Butif P= 4 Q = 5§ which does not satisly e relation 3 - P= 3
Hance, P=Gandthen Q=9

Question. 47 If 1AB + CCA = 697 and there is no carry-over in addition, find the value of A+ B
+C.



Solution.

1A 8
we have, TC € A
g8 2 ¥
Since, there is no carny-over in addiion,
1+ CmiF
= C=5
A+C=0
= A+5=19
= A=
and B4+ A=T
. B+ 4=T
= 8=13
Herca, A+ B+ C=4+3+5=12

Question. 48 A five-digit number AABAA is divisible by 33. Write all the numbers of this form.
Solution. Given, a number of the form AABAA is divisible by 33. Then, it is also divisible by 3
and

11, as if a number a is divisible by b, then it is also divisible by each factor of b.

Since, AABAA is divisible by 3, sum its digits is also divisible by 3. i.e. 4+ 4+ 8+ A+ .4=0,3,
6,9..

or4/4+8=0,3,609,.. ..()

From Eq. (i), we have

Further, the given number is also divisible by 11, therefore (2/4 + 8) — 2A =0,11,22,...

B=Q 11,22,..

8 = 0 [v8 is a digit of the given number]

4/4=120r240r36 A=3,69

Hence, the required numbers are 33033, 66066 and 99099.

In questions 49 to 60, find the value of the letters in each of the following questions.
Question. 49

A A
+A A
XA Z

Solution.

A
Wi have, +a
X4

Hera 4 + A = £, therefore A can teke any value betveean 010 5

Sine the sum n second colemn is a tea-Jigh rumber, the possible valuss of Aare 5 o &,
Thavalues A= 5o 8 are nol liked in second coasmn,

Hence, A =0 = f =Hand X =1

Min =

Question. 50

8 5
+4 A
gL 3

Solution.



B 5
+4 A
g €A1

Hler&_5+.ﬂ=3=:~5+ Acan be a singie-diglt numper,

S0, 5+ Als a bwo-digil nurmber whose ons's digit ks 3.

o A=

= B=1C=3 [BC=8+4+1=108+C=13=10x1+3=8=1C=3

‘Wz heve,

Question. 51

g 6
+8 A
CA 2

Solution.
g B

We h .+E A
EWEEA

Hera, 6+ A =2 therefore the possibie value of Az 8.
Mow, CA=8H+8+1
=3 Ca=8+9

i.&. B+ 03 a number whose one's digit is &,
Therefgre, =7 andC =1

Question. 52

18 A
+A B A
8 6 2

Solution.
1 B A
W haws, > 8 ,.q_
B B2
Hare, A+ Aig & numiber whoas ona's digil is 2, therefore A= 6
iow, B+ 81 1=8
&0, the possiale value of Bi5 9.
Again, ¥ third colurmn,
fi+1+1=8
= A= B which is true,
Hance A=Band 8=9

Question. 53
C B A
+C B A
143 0

Solution.



We have, l:

=00
Lm m

A
A
o

in first column, A+ A=3

= A=0ars
For A = 0, the second and third colmn, sums are not satsfied.
La A=5
Mow, in ascond colurmn,
B+EH+1=13
Far & = 1, third eolumn sum & not satisfied,
S0,0=6
Agan, inthird commn, C 1 C+1=14
= C4C=15-1=2C=14
= C=7

Hance, 4=6 0= gard =7

Question. 54
g A A

+8 A A
3 A B

Solution.
g 4 A

+8 A A

3 A8

Here, A+ A=B

£ A=1 [- rejecting A= 4as 4 + Acan not be a sngle digit numibser]

Pacre, mi thendd selumn, wehave B+ 8+ 1=13

= PHeP ap B=1t

Honpe, A=%andB=1

‘We havea,

Question. 55
A0 1 B
+1 0 A B
g 1 0 8
Solution.
&0 1 8
Wn hava, ﬁﬂ_ﬂ
g1 0.8
In frstcolurnn, &+ 8 = B
- =4 [+ 8~ dadnes nes Bt in fourth column]
In zecond coluann, sz favs
A+1+1=0

%o, Ashould e 8
Third cclume is frue rar thase values.

Alac, the tourtn calumn is satistied.
Herge, A= Band 8=

Question. 56



A g

™ 6
L 6 8
Solution.
A B
';l,r& Py, x & gdB-4=1
C & B

Hmu,auﬁ|5anm_ whose unil's oo iz B. Thersfore, the possiohe values of Bare 3
e B
It B =3 than 4 % 6+ 1=C6 which is mof pozsible for eny value ofd babwesn 000 9.

s8=Aandthen A=T
The values of A and B alss satishies the given candition | & 8-7=1.
NA=T then? =G+ 4=C8
46=CH
g C=4
Henca, A=7 B=RBancdC=4

Question. 57
A B
xA B
6 A B
Solution.
A B
A B
"B A B
i A8 = A8 = BAS Al
Here, B x s a number whose unil's digt is B Therslone, 8=1or 5
[~8»leiza ABx A+ » G|

Given

Again, ABE x A5 = BAB
-uThu_nquaﬂa of a twa-digit number i ETI"II'.ﬁﬂ-ﬂ-Ijr rrmoear,
50, Acan take values 1, 2 and 3,

For A=12 3and 8=, Eq. {i} is nat satisfied.

Mow, for A =1, B= 5 Eq. {i} I8 not satisfisg,

Wa find that A =2. B = S salistias the Eq. {i}.

Hamza, A=2,8=5

Question. 58
A A
A
——and 8- A=1
CA B
Solution.
A A
: = A
“eae

Hara, A4 nAIEMhru-r:ﬁgﬂ_nunbar.whnu unit’s gl Is B therelore A can take valies
from 4 10 9 &5 A= 0,12 3give a single dgil or & two-diglt number, Further, gince tan's
digil of the product is A itself. So, A cannol take vaiues 4, 5, 6, 7 and 8.

Hefge A=DfendihenB=1C =8

Question. 59



A B
-8 7
&
Solution.
a4 E
Given, i:" :
In the cras colume,
B-7=5
Cleary, 12-7=580F=2
Question. 60
g8 A8 (
-A 8B L5
0 4 8 B
Solution.

It thie ares column, C—-5=18
Chviously, 13- 6=080C =13
in the tees column, BE— O+ T)=28

i B=8+0C +1

= d=8+43+1

=3 H=12 ia B8=2

Ir thie handred's calumn, A— (8 + 1= 4

= A=4+ B+1
Y A=4+24+1=7
In the thousand's columen, B -A=0

== 3= T [y

= D=1

Hence, A=T, B=2 C=3and O=1

Question. 61 If 27 = A= 33, then find the value of A

Solution. We observe that, 4 x 3 can never be a single digit number 2, so 4 x 3 must be a two-
digit number, whose ten’s digit is 2 and unit's digit is the number less than or equal to 4.
Therefore, the value of 4 can be 9, as the values of 4 from 1 to 8 do not fit.

Question. 62 212 x 5 is a multiple of 3 and 11. Find the value of x.
Solution. Since, 212 x 5 is a multiple of 3,
2+41+2+x+5=0,3,69712,15,18,

=>10+x=0,3,6,........

=>x=2,5,8..()

Again, 212x5 is a multiple of 11, (2 +2 +5) — (1 +x) = 0,11,22, 33
=>8-x=0,1122,..

=>x=8.(i)

From Egs. (i) and (i), we have '

x=8

Question. 63 Find the value of k, where 31K2 is divisible by 6.



Solution. Given, 31k2 is divisible by 6. Then, it is also divisible by 2 and 3 both.
Now, 31K2 is divisible by 3, sum of its digits is a multiple of 3.
ie.3+1+k+2=036912,..

=>k+6=0,36,9712

=>k=00r3,6,9

Question. 64 1y3yé6is divisible by 11. Find the value of y.
Solution. It is given that, 1y3yé6 is divisible by 11.

Then, we have (1+3+6)— (y+y)=0,11,22,..
=>10-2y=0,11,22,..

=>10-2y = 0 [other values give a negative number]
=>2y=10

=>y=5

Question. 65 756x is a multiple of 11, find the value of x.

Solution. We are given that, 756x is a multiple of 11. Then, we have to find the value of x.
Since, 756x is divisible by 11, then (7 + 6) — (5 + x) is a multiple of 11,

ie.8x=0,1122,..

=>8-x=0

=>x=8

Question. 66 A three-digits number 203 is added to the number 326 to give a three-digits
number 5b9 Which is divisible by 9. Find the value of b — a.
Solution.

Wa zes that,
In ana’s galumn, 3+ 6= 9 (frue)
In third cedamn, 2 + 3= 5{lrue)

< @+ 218 asingle digh number b as there is no camy-aver in the acdition
Thiss, A+2=h=b-gm?

Question. 67 Let E = 3, B =7 and A = 4. Find the other digits in the sum
8 A S E

+ 8 A L (L
G A M F 5§
Solution.
8 A58 E
Given, 8 Al L.E=3. B=Tand 4 =4

[l
B
=
™
i



T4 5 3
+ 7 4L L
"M aw s
In one's colurmn, wehava 3+ L=Soar3-L=3 i
I ban's column, we havesS + L=3 B 3]
On solving Eqs: (i) and (i}, we gef.
E=3and L=0
In hundeed's colurmn, w8 hEve
A+ 4=M
&y M=H
gnd i thausand's column, wa have
T+7=04
14=05G4
=1

Hemcel =05 =3 M=8andG =1

Question. 68 Let D = 3, L = 7 and A = 8. Find the other digits in the sum
M A D

+ A 5
& A
g UL L

Solution. In the first column, we have

3+ S+ 8, which is definitely a two digits number whose unit's digit is 7.
S must be 6.

Now, in second column, 2A +1 = 16+1 =7 [1 is carry forward)]

In third column, M + 1 is a 2 digit number, therefore M must be 9.
Then,M+1=9+1=106=1,U=0
Hence,S=6,M=9,6=1andU=0

Question. 69 If from a two-digit number, we subtract the number formed by reversing its
digits then the result so obtained is a perfect cube. How many such numbers are possible?
Write all of them.

Solution. Let ab be any two-digit number. Then, the digit formed by reversing it digits is ba.
Now, ab-ba = (10a+b)-(10b +a)

=(10a-a)+(b-10b)

=9 -9b=9(@-b)

Further, since ab-ba is a perfect cube and is a multiple of 9.

-.The possible value of a = b is 3.

ie.a=b+3

Here, b can take value from 0 to 6.

Hence, possible numbers are as follow.

Forb=0,a=3,ie 30

Forb=1a=4,ie 41

Forb=2,a=5ie. 52

Forb=3a=6,ie. 63

Forb=4,a=7ie 74

Forb=5a=8,ie. 85

Forb=6,a=9,ie. 96

Question. 70 Work out the following multiplication.



12345670
b 9

Use the result to answer the following questions.

(a) What will be 12345679 x 45?

(b) What will be 12345679 x 63?

(c) By what number should 12345679 be multiplied to get 888888888?
(d) By what number should 12345679 be multiplied to get 999999999?
Solution.

12345679

Wi have, X9
AR RRE
&
Here. we observe that in the product all the digits are same |.a 1, which = aclualy the
Uit diged of ther prodhuct B x B Also, folal of digits in the rustiplier is S0~
12345679 e

(2] We have mmmmng‘“—‘“’

Here, multipller ks 45 whose sum of digig g 9

Thus, by conjeciurs we conciude thad tha t congists af di ;
e B oo bs af digita 5 only &8 unit's
12345670

£ 45

555556665

o) We have to compute the value of 12345678 « B3
Hera, sum of the digits of the multiplier ia 9 and unit's digit of the praduct is & and
wmit's digit of the productz of 3= Ris T 9 .
12456 = GE=TTTT7T777

{c) We have to cbtain the number 8 in the product, we should multiply the given
numbar 12345879 by 72 as sum of s digits is 9 and 2 x Shas anly digh az B,

{d) To get the number § In the product we have 1o find oul & two-digit number whoss

surm of digits fa 9 and the product of fts Units digil with th unft's digi .
rumber I8 8, sweh number is 81, al 8 unit's digif of the given

Question. 71 Find the value of the letters in each of the following.

F 0 2 L M
w 6 oL M1
U rars W T 1

Solution.



FQ

LK B

Qaa

S, In fires cotumn, we see thet & x OF = O, Therefors, the possible values of O are
2,4, 6a8nd8

Foicl=2 Bx P+ 1can nol be egual to 22 for any value of P,

20,0 = 2 Iz not poesibla.

{f} Wa have,

= " Q=4
= BxP+EFwmdd
= &0 = 42
== P=7
Hance, P=7 and Q=4
g L M
; LM
(i} We haws, + TR
Iri firat columen, M+ 1=8
Clearly, M=7
In second column, L+ M=1
f—y L+TF=1
2 Thevalue of L 430 ba 4-‘
In third column, 24 L+i=M
o o2t At l=T.

w27 =T, ap the third column s eafisfied tor L = 4, MW =T,
Henca, L=4and M=T

Question. 72 If 148101B095 is divisible by 33, find the value of B.

Solution. Given that the number 148101S095 is divisible by 33, therefore it is also divisible by
3and 11 both.

Now, the number is divisible by 3, its sum of digits is a multiple of 3. i.e. T + 4+ 8+1 + 0+1 + B+
0+ 9+ 5is a multiple of 3.

29+B=0,3609,.

=>B=1,47 ..(0)

Also, given number is divisible by 11, therefore

(1+8+0+B+9)-(4+1+1+0+5)=0,11,22, ..

=>(18+B)-11=0,11,22

B+7=01122

=>B+7=11=>B =4 (i)

From Egs. (i) and (i), we have B = 4

Question. 73 If 123123A4 is divisible by 11, find the value of A.

Solution. Given, 12312344 is divisible by 11, then we have (1 +3+2+4) - (2+1+3+4)isa
multiple of 11.

i.e (6+4)-10=0,11,22,..

=>A-4=0,11,22,.

=> A-4 = 0 [Ais a digit of the given number]

=>A=4

Question. 74 If 56 x 32y is divisible by 18, find the least value of y.

Solution. [t is given that, the number 56 x 32y is divisible by 18. Then, it is also divisible by
each factor of 18.

Thus, it is divisible by 2 as well as 3.

Now, the number is divisible by-2, its unit's digit must be an even number thatis 0, 2,4, 6,
Therefore, the least value of y is 0.

Again, the number is divisible by 3 also, sum of its digits is a multipleof 3.i.e. 5+ 6 +x+3 +2
+vyis a multiple of 3



=>16+x+y=0,306,09,.
=>16+x=18
=>x = 2, which is the least value of x.



